
riwr-s 7 awe l-o4 / 2o1s *no-......1.5.......
ften wron

drs +€,/d-+d grqrq gqffsq fuqr|I
qqo,

u-dnerffiff
qEon d sq qfuql

+sT {,
fe-ar c<Tffi,
gir,1rvr Fw), Tfi sqR"r (dffi), lM-q, u5$, wagr. 5-uwtgt, rt)5c
G gd-at

qdrT, Rl{i6- 12'2-' 2o1s
f4qq:- Ttre gw eft{ zoss-fudr 9"{TFH=r--o0-094-q-q rerrqil(-0001- ol-g{s-frq

teTrril (frqa otg-:l-zossooos+ooor) qr.r r-qr-sa d st-drfd ftft-q fdsq
{N +' s-dcr{ ffiq s{ zora-rs { qq d ftri qa < 6.74.7s,ooo/-
(u: orte *rgq ong vqr$ Eurrr tlTi) qri irT irrirs;r

q6Rrq,

scE-ff fdcqifud qsd gq rt{ zoss-fudr !RrrcFr-00-0s4-<rq *qcfl{-ooor-
3r-g'is-dq RrqrT (frT{ ois-::-zossooostooor) drr r{wr-ea d erfl.f-d frtrq frqq rid {
qdqn ffiq q{ zora-rg d q-q d ftd q-d < 6,74,7s,0o0/- (o: o-ts d"a+q ere e-e.r$ eqx
sci) qre o1 YrRI rid'{ ffi d orfsn erqft.a of qrfr tr
2. q6 sTr?i-r' ft-fl frqp 6 qeio dgoa kqio. 13.0s.2018 d 3Trdt'6 t frql qr rer i r

a. vtft oi qq fufl fr'qrr d qRqd sqFzs6l ft-qio rz eifa rssa si gd-E {idfi ory q*t
d Gild6 d fr-qT qrtinl

a. entiFa vrfu or rJ'rm nff ETTfr{ si stq qscra d eK ffi.d sq d ftgm zFff o} fi
fo-qr qrqt qR qi-{ E{q.Trt qT 3Tmd ffi *fr d d {fl+l{fr fuffi ffi vs
qqq rqrffi ai ei.ftt

s. q+qFrg tf rqe frrd qri qrd €'ff ftq=it w gLq vft{/dgeft{7su:fl{7vrufr-o q6d
eTIR ol tle gE-{, qffit or ds, ft!-{ ots Vs qirr ricsT Grffi sc t erfuT of vln
arfu q-ard'sron d orqtdq tt +qr Hlriur wgfr-o arr t e) wd r

o. fus v< d fut-q c{fr'{r w 6ff Rgtr g v{fiT g.rnn vS qs * i{Efft-d cq-d vid d
fo-qr qr0 

r

z. fuac frffq ftqqrq-ff, awe \era dejfi 3fq gTirrd crqq|-qt cTgrr {{rFr-rrEFr w Frfa
eTt$i oT 5-c-drgd6 qraq ft-qr qri drfu qq w qrwfuo sq * ft{i7rr vut w sdt' 8. fuS fi cRfufr q eTrdd{ ft} qri ot eiei qq +1 @ c-€i vrsT qrd aqr TrTilc d
stfuiq t Wfe: sgq di d sqi1q 6,g,r-an +t ofu qrt qrll d-q-Jqil-i grrdF
gftR"d or+ riEFo qErfunr0 d qfu'rd ftrffi d.tl

9. frqcrTqT( dra c-r sqqrq oetfr orqr oeil srrd ftg Gilqc{o Trrrol qr ffn 6{rT
riGftrd ffi Vq qqc q<rffiZgrrcrn 6{i sd qslffi of ffir eirftt

10. 3TriiEd qtRr ol qrfu-6 qq ffi u-*p q6 +t ffi orftq e-o G trnfu_o. qq ffi
ffi-c sq t gwm+ qn fq-{r Sfrfua fu-qr rmil

11. qs-+1 {q-{r q-6rd'sToTi (do W eo;, fudTq, fi{q-< rr}f, cer, ceiT o} .,fi fr w rS i r

12. ondFd iifrr oT ft€rf,q erq q'o-d d er-jqrq q61 g,
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sc{-fr sriitr-d irFr d srldR"fi yrRr ol ciT d srpl i*iBa frcq qfi{ t gd 3rT-{Fd iTR.r,
sr€kFr arq, s-q*s nRr cd errgfu erqw sTfu-d o1 qrq 

Iq*fu6 qq 61 sr*n nr+d gq 3Thftffi *fu o1 qiq +t qrc q fu erftFfu-d *fu d
sflErr qr rTRr qfr qh 61 qrc 

I

nrqffirs-{(rl
V.rta",

(<n-qftT gcir ffi6)
sron d sq qfuq
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11.
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Dehirl^rdr{a/r.n r/F19

Tr6ICrq,

svE-fi fdsqifu-d q-q-e gq rft{ zoss-fudr !RTr*l=I-0He4<Fq lefiqql(-eee1-
3r-*is-dq Rflq-rT- (frtrd ots-::-zoss0oo940ool) qirr xiqt-ss d' 3r€'.ld frft-q frqq rfifr q
ciqn fa+q q{ zora-rg d qq d ftrd qa < 6,74,7s,00o/- (u: oQg zifa+s.{rs v'qr$ asrc
qtri) qre ol qtftr €d.{ ffi d errmr eirtiFc ol qrfr Bt
2. rr-6 3rTdfi fufl fory 6 rnio 6gos friio 13.0e.2018 d 3Trcf6 t R-qr qr r-gr t t
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wron d gq sfuqt
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irtrc gq vfr{ zose-ffion IRIF{FI-00-0e4-€rq reflq-fl(-0001- q1ffiq
*erq{r (ftqe o}e-rs-zosgoooslooot) qrr ssr-ea d 3[f,'fd f4furq frsq
{N { qdlrq fufrq s{ zors-ts fr qq d ftrn Ea < 6,74,7s,ooo/-
(u: orts *rnt arq sqr$ acn 6Ti) qrd qtr srrq-.;I I

crfu oT qq fuf, AqFI d cfrct €sr-zsot frcb tz eria tsga \tf qilE ri.nff erq r{t
d sTrdro it ftqr iar}tnt
eTIdE-d qIfu ET 5q-drc [er ET-{fi{ \d qtq qsdrd;; qI< ffid tc t ftg€R'iFff 6) fr
fuqr vrq r qR ot$ E-{q{oi qT 3Tffif, Frore *fi t d {q-+1 {ff ffi ffi Tq
qqr qflffi afr ffir
otsFm it u-qa frrn qri ET-d q'fi frc=it rrr gtq sff{Zdgcft{r/qcvft{/srlrh6 {o.d
sIrR 4t w€ 56r, qo(vf or 6ts, frrrt o.|s cs qFr ii@T 3{ffi $c d 3ifu-d qff qfd

arfu rar&eron d o.rqia"q t d-qr iietnq wgFqd drr t d qdt
fus qs + frs-€ r{fuEr w sff fig-ffi t s-+or gTdrq ES q< it *itiE-a cwe sft{ *
fu'fl qd 

I

ft-drq ffiq ffi cwe \sra (teII ofdr E{im rn'eint der {firrr-gtfq w fft
enivt or fc-ilTdo. q-6-q fu-fl qr$ arfu qq w qrwfuo 5q t ft{iTur rq ut q-dt

frffi fi cRfuTfr d GTrd-qtrn qd or enf qq of ffi c-€l wflsl'qri f,Qn'tJ.rdrc.d
gtfu-s * qofd: *ig€ di d s.rslc fr 'J'rdrc ol od-qrg o1 qrd l il{gsR g-I-drq

Ef{Fqa orcr €iifud qoffi +1aTfurf, ftrffi el'ftt
frqrqsri vh w or-gr+ o-d'fi tn-r:+ epn vtrd ftq 3Trqr+6 srltut tl-t ff6;69{r
iidtro n-otrn gi qqq q-qTDffirfi/gq-dn o-{i ?rd q-flffi o1ffi +{fr1

3rTriFf, qtRT +t qrfu-m qq ffi s-do qr6 at ffi nrfts n-o \ti +Trfu'6 arq ffi
ffifr Eq t gc+rau 61 +q-fl gi{Rqfl fuqr qri 

l
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13. BqER eTrqE-d nRr d cTRR-fi nRr +1 qi'r d qrpr ritfFa frsq qfid tt q-a urcitro vRr,
ei-€kn q{r, st-{c}s vtRr w er,gfu ers{q orfu-d o1 qrq 

I

14. sr€E-s qq sl cflqn qr+d gv sTfrftfi {rRr s,t qiq o1 qrc c fu crffifud yrftr d
SITEIR qt {rfu qff qiq o1 qrC 

t

frrqisrrqq

E0/-
(o-64* eqrt fu6)
qron d sq qfus

grq-o l+eqr^-Vqqe F{4 / 2o1a qro-.........._4.5_ ,,.,..... ....... / qqr, flcqio'- t 2.2 . ,/ 2o1syfdftTfr :- rr6r+sFfR ft-4q, qqa76}qp11-q qqlfi-d.ffr, S,l-t, snq (urirl yfl qqirl
(dffi), tuvrrriq, s5g, ,il,Tdw, gqrffi{g{, rdgq sq E+e a tqiTrt G ;flsd; t{".{ ig
ifua r

w
sron d sq sfuq
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ffiq s{ 2ols-1s d arq d fdg gq rft{-zoss-frf,r 9rnrff;r-0e4-$-ar renq-fls-0001-€rgqu-sftq rcfiq-qr) cilii-{-

FO

€o
6.2

gql {6rg rE
ffian or crc

sFr
5nr qRur (Ewr) Xfi qen"t

(dffi) foqmrrq r5$ lr.lTdgt g$Ttm-{g{ qd5r g*-d

1 ol 01 qC|n 0 25,00,000 260,00,000 0 68,00,000 0 1 15,00,000 468,00,000

01 03 fiaq qrq{ trflr 0 4,25,000 25,00,000 1,81,000 0 0 23,00,000 54,06,000

01 04 q6rc frt{rqr .IiTr 0 1,63,000 15,00,000 0 2,50,000 0 U 12,00,000 3{,13,000

4 01 05 qR-+rq qrr 0 0 0 0 n 90,000 0 0 0 90,000

o't 06 Bfu-el qrr 50,000 4,00,000 0 n 3,00,000 0 0 1,00,000 8,50,000

01 07 3Fq lIf,I 0 10,000 10,000 0 0 10,000 0 0 0 30,000

7 11 01 qFII qq 0 0 0 0 0 0 0 50,000 50,000

8 13 0t 6'ntld{I ar{I 0 0 0 0 8,00,000 15,00,000 10,00,000 8,00,000 41,00,000
o 13 02 erTo or go \ti r-s-qsrq 0 0 0 0 1,00,000 0 0 10,00,000 8,00,000 19,00,000

10 13 03 {FIF{ ar{r 0 0 0 0 0 n 0 1,50,000 40,000 1,90,000

11 13 04 fu{d qr{n 0 0 0 0 0 0 0 2,00,000 3,00,000 5,00,000

'12 13 06 .|{ //dsn-6 0 0 0 0 0 0 0 50,000 50,000 1,00,000

13 '13 10 ,Trg qrt rrtq irr Tq dFr 1,50,000 0 0 0 0 0 0 6,00,000 0 7,50,000

14 28 02 sF€r fqr( 6,00,000 0 0 15,00,000 8,00,000 0 0 5,00,000 2,00,000 36,00,000

qEI qtrl- 7,50,000 31,48,000 304,10,000 15,00,000 17,00,000 76,31,000 15,00,000 35,00,000 173,40,000 674,79,000

(u: orlg *etl arq sqr$ 6qR $qi) qrr I

@,-
*ro +t'k *au

grqrq wrsr frqr.I


